LOCTITE.

LOCTITE® 4014 ™

2020 9
LOCTITE®  4014™
( ) LMS
LOCTITE® 4014™ 22°C 24
, ISO 868 65
1SO-10993 , 1ISO 527-2, % 2
LOCTITE® 4014™ , 1ISO 527-3 28
(4,000)
22 °C 10
, 1SO 6922:
@25°C 1.1 N/njm2 26.9Ms
- SDS (psi) (=1,000)
, mPa-s (cP): S
:25°C, 1 aws 22 C,T\'T%T 24
, Brookfield - LVF, 25 °C, mPa-s (cP): v N/mm2  >7.5
1, 30rpm 1 5 PVC PVC (bsi)  (>1.100)
ABS ABS N/mm? >4
(psi)  (>580)
N/mm? >7.5
24 (psi)  (>1,100)
ABS N/mm? >55
(psi)  (>800)
pveC N/mm? >4
(psi)  (>580)
. N/mm? >4
PVC PVC 60 80 (P/Si) , (>580)
N/mm? 1.5
ABS ABS 20 1 25 (psi) (220)
8 10
G-10 G-10 25 30
PVC 5 10
22 °C 24 121 °C 24 s
ABS 5 10 22 °C
5 8 :
20 25 ( ) N/mm2 212LMS
G-10 6 10 (psi)  (21,740)
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38°C - 85%
,» N/mm? ;
1* 2* 3* 4*
PVC PVC >8 >5 >5 >5
ABS ABS >4 | >35| >3 | >25
>8 |>65| >6 |>55
PVC >6 >6 | >55|>55
ABS >4 >4 >5 >4
>4 | >4 | >4 | >2
| 1.5 14 | 22 | 2.0
*1_
*2- 1
*3- 4
*4- 8
LOCTITE® 4014™
ETO 25 50
LOCTITE® 4014™
Loctite®
/
(SDS)
1.
2. (0.05 mm)
3.
LMS
LMS 2002 10 11
LMS

(°Cx1.8)+32="°F
kV/mm x 25.4 = V/mil
mm / 25.4 = inches
um/ 25.4 = mil
Nx0.225=1b

N/mm x 5.71 = Ib/in
N/mm? x 145 = psi
MPa x 145 = psi

N-m x 8.851 = Ib-in
N-m x 0.738 = Ib-ft
N-mm x 0.142 = 0z'in
mPa-s = cP
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